

$d = \frac{41 - 15}{8 - 1} = 7$ $a_n = 7n + b \xrightarrow{n=1} 15 = 7 + b \rightarrow b = 8$ $a_n = 7n + 8 \xrightarrow{n=17} 127 = 7 \times 17 + 8 \rightarrow 17 = \frac{115}{7} = 16 \frac{3}{7}$	۱
$a_n = 7n + 8 \rightarrow 100 \leq 7n + 8 < 1000 \rightarrow \frac{92}{7} \leq n < \frac{992}{7} \rightarrow 13 \leq n < 142$ $\rightarrow n = \{14, 15, 16, \dots, 141\} \rightarrow \text{تعداد} = \frac{141 - 14}{1} + 1 = 128$	۲
$a_{n+1} + a_{n+2} + a_{n+3} = -a_{n+2} \rightarrow 3a_{n+2} = -a_{n+2} \rightarrow a_{n+2} = -a_{n+2}$ $a_{17} + a_{18} = -15 + 8 - 12 + 8 = -11$	۳
$r^{2n-3} + r^{2n-1} = r \times r^{2n+1} \rightarrow r^2 \times r^{2n-3} + r^{2n-1} = r \times r^{2n+1} + r \rightarrow r^{2n-1}(r^2 + 1) = r(r^{2n+1} + 1)$ $\rightarrow r^2 = r \rightarrow r = 1$ $\Rightarrow r^{2n-3} + r^{2n-1} + r^{2n+1} = 14 - 3 + 1 + 8 - 1 = 19$	۴
$a_{17} = \frac{15 + 15}{2} = 15$ $a_{10} = \frac{15 - 15}{2} = 0$ $\rightarrow d = 15$ $a_{10} + 11d = 0 + 11 \times 15 = 165$	۵

$$a_1 + a_2 + a_3 + a_4 + a_5 = \frac{1}{r} (a_1 + a_2 + a_3 + a_4 + a_5) \rightarrow \cancel{a_1} = \frac{1}{r} (\cancel{a_1})$$

$$\rightarrow a_2 = \frac{1}{r} (a_2 + \omega d) \rightarrow \frac{ra_2}{r} = \frac{\omega}{r} d \rightarrow ra_2 = \omega d \rightarrow a_2 = \frac{\omega}{r} d$$

$$\frac{a_2}{a_1} = \frac{a_2 - d}{a_2 - rd} = \frac{\frac{\omega}{r} d - d}{\frac{\omega}{r} d - rd} = \frac{\omega d}{\omega d - rd} = \boxed{\frac{\omega}{\omega - r}}$$

$$t_n = t_{n-1} + \omega \rightarrow t_n - t_{n-1} = \omega \rightarrow rd = \omega \rightarrow d = \omega$$

$$\frac{t_1 - t_0}{t_1} = \frac{(t_1 + t_0)(t_1 - t_0)}{t_1} = \frac{(t_1 + t_0)(r_0)}{t_1} = \boxed{\frac{r_0}{r_0 + r_1}}$$

$$d = \frac{1 + \sqrt{r} - 1 + 1\sqrt{r}}{1r} = \frac{\cancel{1}\sqrt{r}}{\cancel{1}r} = \boxed{\frac{\sqrt{r}}{r}}$$

$$\frac{r_2 - r}{r_2 - r + 1} = \frac{11 - r}{n - 1 + 1} \rightarrow \frac{r_0}{r_2 - r} = \frac{q}{n} \rightarrow r_0 n = r_2 n - 11$$

$$\rightarrow \boxed{n = 2}$$

$$a_p + a_{17} = a_n + a_{n+1} \Rightarrow n + n + 1 = 17 \rightarrow n = 8$$

$$a_1 = 3a_2 \rightarrow 3a_2 - a_2 = 2d \rightarrow a_2 = d$$

$$a_2 - 2d = a_1$$

$$\rightarrow a_2 + (x) \frac{a_2}{r} = 0 \rightarrow a_2 \left(1 + \frac{x}{r}\right) = 0$$

$$\rightarrow 1 + \frac{x}{r} = 0 \rightarrow x = -r$$